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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1)

2)

3)

4)

5)

Tlenefl FETem U U9 R W A StiHara: o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

st T9 HE SAfHaE 2 |

All the questions are compulsory.

TeIE U9 BT I & TE S-Yfeaem § @ o |

Write the answer to each question in the given answer-book only.

o awi # safter @og g, 39 9t & I uw iy @ o |

For questions having more than one part, the answers to those parts are to
be written together in continuity.

Uy U o &<t 9 SIS ®UR H {RE TR di g / s / i g w =
W % T S T A |
If there is any error / difference / contradiction in Hindi & English versions

of the question paper the question of Hindi version should be treated
valid.

Tear Here

99 U i Wi & A0 98 wie
TEAR HERE TO OPEN THE QUESTION PAPER

TE § ey
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Section

aQ W >

D

2

T HE 3R TAH T
1-13 1
14-21 2
25-27 3
28-30 4
Q. Nos. Marks per
question
1-13 1
14-21 2
25-27 3
28-30 4

IR <l ITeg |
20 vrsg
60 vrsg
100 vreg
250 vreg

Word limit
of answer
20 words
60 words
100 words
250 words

7) U9 hATeR 22 | 24 Al % @ it @ i Ui 2 3k g |
Question Nos. 22 to 24 are related to map-work carrying 2 marks each.

8) fva, uRa a USEYUM & IUCTY T T [T WHIEHT et ITR Yecrent o T Teeft i |

Attach outline maps of World, India and Rajasthan with the answer-book.

9) wwm iR 30 § oviAieh forehed g |

There are internal choice in Question No. 30.

Qs - A

SECTION - A

1) ‘Tt — AT gEaeh | STe o | foredt ?
Which geographer wrote the book 'Anthropo - Geography'?

2) IO Tietrg # farga <t feRam oftreTa SeeE g Wi 22

What percentage of world population is found in the northern hemisphere?

3) ToRUN % whie e # fism arion siftrema st aren s 22

Where is a composite rural settlement found in Kota district of Rajasthan?
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4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

3
2T AIZAREA YRt o S SRl W A 9 TR feem 22 [Va+V2=1]

Which cities are situated on both the ends of Trans - Siberian rail route?

WS UTe H WRA o1 faoa # e T = g2 [1]

What is the rank of India in World in sheep - rearing?

HIA | AT ST 61 e fore o gam ? [1]

In which year Planning Commission was constituted in India?

YTt st | foafgen argAt o waw s afia 22 [1]
Why the entry of three - wheelers restricted in Dharavi?

Ui td TeR 8 3R i) [1]

Differentiate between transport and communication.

HAferer TEeE U AT =1 2 g ? [1]

Why biotic resources are generally non-exhaustable?

9Ra # fEem i stavgerar & w68 @ %o fefau) [Vat+V2=1]

Write any two reasons for the necessity of planning in India.

TSTEAT hl WAL T STATITER -l hgl ATl 8 ? [1]
Why is Rajasthan called 'museum of minerals'?

TAEEAT S TSI ok TEIEAL h g T R g 3T et <ht fohd T st wreE st ? [1]

Which branch of geography will you select for making strategy of population
and resources of regions.

TTehieieh JUEIST | Y Tgd 3g Sfud URagH Wsam geise| [1]

Suggest suitable medium of transport for rapid relief in natural disasters.
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SECTION - B

14) foriaes saa@m™ o0 27 5o hig g1 35181 faiRan| [1+Y2+V5=2]

What is secondary occupation? Write any two examples.

15) HERAT R i THTEA T AT hig TR hReh (Ray| [VatVot Vot Vo=2]

Write any four factors affecting literacy rate.

16) WA =2 uyeit o AR F8 & 32 (FE @ alieh) [1+1=2]

How does Bushman hunt huge animals? (any two ways)

17) ufgerht va Hearad JOY H 357 Fo & His uR SR fafan) [VotVot Vot Vo=2]

Write any four reasons for high population density in western and central Europe.

18) 31« — femrar 2015 &t ® WRa =1 e @ fata e 351.61 2 239.93 3R Sew ol
WRA % SR Hqe i feafd wug hifse v wg faa @ st gema i [1+1=2]

Import and export of India for the period of April - December 2015 was
respectively 351.6 and 239.93 billion dollars. Clarify the condition of Indian
trade balance and give suitable suggestion in the interest of the nation.

19) g wguut a0t 39 3eF U TRt hig §f Ut gEnst| [1+1=2]

Suggest any two measures related with use of fuel to control air - pollution.
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20) waa (Gt fer 3 #E & U gEEv [1+1=2]

Suggest any two measures for sustainable development.

21) uwhiur siferama o [T Ua SAEAehR SfaEul o {@its 48| [1+1=2]

Draw sketches for linear and rectangular patterns of rural settlement.

22) T2 fava & Wen wAtvs @ U@ eiig-3eum gl R sifRa vt —  [Vor Vot Vo+o=2]
i) P i) wieR
i) et iv) g

Mark the location of major iron and steel centres in the given outline map of the
World:-

1)  Chicago 1) Moscow
1i1) Saopolo 1v) Jamshedpur

23) fo3 ™ wRa % W& A | T gaTE STg Tl Uehid shifee:— [Vot Vot VotV2=2]
i) foeh i) IR

iil) ST iv) ge
Mark the location of the major air-ports in the given outline map of India:-
1) Delhi 11) Udaipur

1i1) Bengaluru 1v) Patna
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24) T2 TR TSR o W WO H T TR 3cargeh el ahi 3ifehd shitete:—[Va+Vo+Y2+5=2]
) SR i) omR
iii) = aug iv) ARR
Mark the location of the major marble producing districts in the given outline
map of Rajasthan:-
1)  Udaipur i) Ajmer
ii1) Raj Samand iv) Nagaur
wus - 9
SECTION - C
25) WRA H SHUGAT Jig o TATHS ATeul sl THESe| [1+1+1=3]
Explain the spatial patterns of population growth in India.
26) Tava & THEEI AHE & THIUH g Sig 6 SU™E gEsu| [VotVot Vot Vot Vot V5=3]
Suggest any six measures to solve the population problem of the world.
27) W GREIUT U TeFUH g RIS o SUT HIEU Ud 3Rt auiq hifie:— [1+1+1=3]

Suggest any three measures for management and conservation of water and
describe them.

Qug - 3
SECTION - D

28) uyuTeH Fi R AT 37 ATATEl UYEIRUT U4 AMUSTE UY] ARUT Sl o T TiHeRi

=T RIS — [1+2+1=4]
i) foorwamn i) &=

Why animal rearing is practiced? Compare the Nomedic Herding with commercial
livestock rearing under the following heads:-

1)  Characteristics 1) Area

SS-14-Geog.
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30)

7
WA | g ALET AEA 1 HiW M quH e IRt & ST hitT:— [2+2=4]
i) amavges imfers gvmd
i) ScureR va T
Describe Wheat or Rice cultivation in India under the following heads:
1)  Important geographical conditions
11) Production and distribution

et qm Hion S St St gorn e ISRt o ST hiteTg:— [1+2+1=4]
i) &=
ii) wmntes — sha
iil) StefeTaEen
GOC|
T H A T TG i Hgeaqul € ? AIE Slel AFR TREe1 o i SRul ot qHest|
[1+3=4]

Compare the Bheel and Mina tribes under the following heads:-
1) Area
i1)  Social life
1i1) Economy
OR
Why the surface water resource is important in Rajasthan? Explain the three

stages of Mahi-bajaj sagar project.

Bae
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